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QUESTION 1

How many tiers of pattern matching can a packet pass through during IPS inspection? 

A. 2 

B. 1 

C. 5 

D. 9 

Correct Answer: A 

 

QUESTION 2

Which command(s) will turn off all vpn debug collection? 

A. vpn debug off 

B. vpn debug -a off 

C. vpn debug off and vpn debug ikeoff 

D. fw ctl debug 0 

Correct Answer: C 

 

QUESTION 3

Which command can be run in Expert mode lo verify the core dump settings? 

A. grep cdm /config/db/coredump 

B. grep cdm /config/db/initial 

C. grep SFWDlR/config/db/initial 

D. cat /etc/sysconfig/coredump/cdm conf 

Correct Answer: C 

 

QUESTION 4

In Security Management High Availability, if the primary and secondary managements, running the same version of
R80.x, are in a state of `Collision\\', how can this be resolved? 

A. Administrator should manually synchronize the servers using SmartConsole 
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B. The Collision state does not happen in R80.x as the synchronizing automatically on every publish action 

C. Reset the SIC of the secondary management server 

D. Run the command `fw send synch force\\' on the primary server and `fw get sync quiet\\' on the secondary server 

Correct Answer: A 

 

QUESTION 5

You need to run a kernel debug over a longer period of time as the problem occurs only once or twice a week.
Therefore, you need to add a timestamp to the kernel debug and write the output to a file but you can\\'t afford to fill up
all the remaining disk space and you only have 10 GB free for saving the debugs. What is the correct syntax for this? 

A. fw ctl kdebug -T -f -m 10 -s 1000000 -o debugfilename 

B. fw ctl kdebug -T -f -m 10 -s 1000000 > debugfilename 

C. fw ctl kdebug -T -m 10 -s 1000000 -o debugfilename 

D. fw ctl debug -T -f -m 10 -s 1000000 -o debugfilename 

Correct Answer: A 

https://sc1.checkpoint.com/documents/R81/WebAdminGuides/EN/CP_R81_NextGenSecurityGateway_Guide/Topics-F
WG/Kernel-Debug/Kernel-Debug-Syntax.htm?tocpath=Kernel%20Debug%20on%20Security%20Gateway%7C_____1 
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